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1	Introduction
In DL, the BS may experience CCA failure in a carrier and not able to transmit, thus the UE will not be able to see the carrier anymore. In case of PCell or PScell, since these cells are used as timing reference for UL transmissions, if these carriers are available anymore due to CCA failure, the SCells need to assign timing reference for the forthcoming UL transmissions.
In RAN4#94-e-bis, we have endorsed a CR in R4-2005374. There was an open issue to agree on some texts in brackets.
In this contribution, we describe our opinion on this issue. 
2	Discussion
The following is agreed in the endorsed CR of R4-2005374: 
If the UE uses a reference cell on a carrier frequency subject to CCA for deriving the UE transmit timing, then the UE shall meet all the transmit timing requirements defined in section 7.1.2 provided that the reference cell is available at the UE during the last 160 ms. If the reference cell is unavailable at the UE during the last 160 ms on a carrier frequency subject to CCA, then the UE is allowed to transmit in the uplink provided that the UE meets all the transmit timing requirements defined in section 7.1.2; otherwise the UE shall not transmit any uplink signal.
If a reference cell on a carrier frequency belonging to the PTAG, which is subject to CCA, is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in PTAG as a new reference cell. 
If a reference cell on a carrier frequency belonging to the STAG, which is subject to CCA is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in STAG as a new reference cell.
As far as we understand, the situation will be: 
· For scenario B, NR-U carriers will be in STAG. If no SSB of a reference cell on a carrier frequency belonging to the STAG, which is subject to CCA, is available at the UE for more than 160 ms then the UE shall use any of the activated SCell in STAG as a new reference cell provided at that least one SSB is available at the UE in the new reference cell. 
· For scenario C, all NR-U carriers will be in PTAG. If no SSB of a reference cell on a carrier frequency belonging to the PTAG, which is subject to CCA, is available at the UE for more than 160 ms then the UE shall use any of the activated SCell in PTAG as a new reference cell provided at that least one SSB is available at the UE in the new reference cell. 
Based on the above understanding, our understanding is that, if we use “is allowed” instead of “shall”, then the UE behavior will be vague and the network will never know if the UE has been successful on this DL transmission or not. Thus, our proposal is to adopt the word “shall”.  
So, we propose the following: 
Proposal: 
· If a reference cell on a carrier frequency belonging to the PTAG, which is subject to CCA, is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in PTAG as a new reference cell. 
· If a reference cell on a carrier frequency belonging to the STAG, which is subject to CCA is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in STAG as a new reference cell.

We propose to agree on the draft CR as submitted in [3]. The CR reflects the above sentences. 

3	Summary
We propose the following in this paper: 
Proposal: 
· If a reference cell on a carrier frequency belonging to the PTAG, which is subject to CCA, is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in PTAG as a new reference cell. 
· If a reference cell on a carrier frequency belonging to the STAG, which is subject to CCA is unavailable at the UE for more than 160 ms then the UE [is allowed or shall] use any of available activated SCell(s) at the UE in STAG as a new reference cell.
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We propose to agree on the proposal in this paper and subsequently agree on the related CR in [3]
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